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1. Find v, (1) of the circuit in Fig. 1 (10%)
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2. Use mesh analysis to decide iy, i and i3 in Fig. 2, where V=3V ; Aj=4A ; R1=2Q ; R,=1Q ;
R;=4Q ; R~=1Q ; Rs=1Q ;
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(@) Formulate mesh analysis in matrix form, i.e., M x|j,|=|Y, |, whereyi, Y, Y3 and all entries of
I3 y3
matrix M must be scalar. (10%)
(b) Solve the equations and obtain iy, i, and is. (10%)
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3. As the circuit shown in Fig. 3 for v;;=50 Vde¢, Ri=R,=500€2, and C,;=C,=2uF, find the total
solution for V,u(t). (20%)
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4. Find the indicated response current in Fig. 4 using superposition. (10%)
8Q2
MW\

64V

Fig. 4 Circuit

5. Solve for the node voltages V; and V ;. (15%)

Fig. 5 Circuit

Find the value of i in the circuit in Fig. 6 using nodal analysis. (15%)
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7. The current source in Fig. 7(a) has the waveform shown in Fig. 7(b). Find and sketch the
waveform for the capacitor voltage v(t). (10%)
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